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Section A (10 x 1/2 marks)

Mental Sums

1.

2.

3.

4.

5.

Section B (5 x 2 marks)

Choose the correct answer and write its number (1, 2, 3 or 4) in
the brackets.

1.

12.

4 000+ +30+2= 4

(1)
(2)
(3)
(4)

6 000
4 000
600
400

What is the missing number?

5, 11,

(1)
(2)
(3)
(4)

_,23,29,35
15
16
17

18

9.

10.

632. What is the missing number?
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13.

14.

15.

6 789 is 200 less than

(1) 4789
(2) 6589
(3) 6989
(4) 8789

The sum of 642 and 284 is

(1) 426
(2) 526
(3) 926
(4) 1426

3+3+3+3=3x +3
(1 1
2 2

3) 3
(4) 4

more than 500.
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Section C (15 x 1 mark)
Fill in the boxes with the correct answer.

16. Write 5 642 in words.

17. - Arrange the numbers in order, beginning with the largest
number.

2589 , 2985 , 2958

18. What is the value of the digit 7 in 9 743?

19. Ali, Ben and Chandra have $5 493 together.

If Ben and Chandra have $2 358, how much $
does Ali have? nd

20. John has $390 in his piggy bank. He spent $56
on a book. He collected $268 during Chinese

New Year. How much has he now? %
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21.

22.

23.

24,

25.

What number must be added to 4 328 to get 6 009?

1465+ 638 =2000 + 100 +

What is the smallest 4-digit whole number that can
be formed using the digits: 9, 2, 1, 5? '

what does ¢ stand for?

fo+o¢+o+o+d+d+¢ =35 _ (

What is the product of 712 and 4?

[RES——:
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26. 54:6=3x [:

What does [:] stand for?

.

27. Jane has 7 times as many stickers as Mary.
If Mary has 86 stickers, how many stickers does

Jane have?

28. Mrs Tan had 63 apples. She wanted to pack them
into 9 boxes. How many apples would there be in

each box?

' 29. 3 bunches of bananas cost $18. How much do
12 bunches of bananas cost? ' $l

94
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30. If represents 100, what does

{ [\ [\ represent?

Section D (5 x 4 marks)
Solve the following sums. Show ALL working clearly.

31. Mrs Lee bought an oven that cost $546. She aiso bought a
toaster that cost $359 less than the oven.
(a) What was the cost of the toaster?
(b) How much did she spend altogether?

Go topage 7



32.

.33.

The difference between 2 numbers is 120. If the smaller
number is 85, what is the sum of the 2 numbers?

Mrs Lee went to the bookshop and bought 9 boxes of pencils.
Each box contained 18 pencils. If each pericil cost $2, how
much did she spend on all the pencils?

Go to page 8



34. Lucy had $75. After paying for 6 similar books, she had $39 left.
Find the cost of each book.

35. Tom had 25 marbiles. Ali had twice as many marbles as Tom -
while Harry had 14 marbles less than Ali. How many marbles
did the 3 boys have altogether?

Have you check®d your work? ©
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Qli Q12 Q13 Q14 Q15
3 3 3 1 3

16.
17.
18.
19.
20.
21.

24,
25.

Five thousand six hundred and forty-two

2985, 2958, 2589
700 -
$3137

$602

1681

3

1259

5

2848
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26.

27
28
29
30
31
32
33
34
35

3

602

7

$72

300

$733

290

$324

$6

111 marbles
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